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( Hindi and English versions )
g e e 15 e ) [ quTiek : 70
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Note : First 15 minutes are allotted for the candidates to read the question
paper.

| A

i) HEYS (Cover page?ﬁmg?ﬁl'@\ T% ITX-UF & Qe i UT SO
FshHish 3Rl AT YR W WH-WIE [y q7 s SHORIh i FEAER
g e (Facsimile) TAF JOF W M R 37 W &el /e € off
FEAET & |

i) WOT ®, @ R W A\ @uel § faww €1 A0 @uel ® g Al
AaE g

iii) WUS - & § IIET Hel aUl WAHE FON F TA® & 20 g
7  fd ¥ et uw & 20 Tgfasedid Te % IW AoTHoH o I
U W 3Hfehd A § |

iv) MoUHoANWo It U W IR 2ifhd AT 9 & Ivar 3§ F12 =&t aur
TR, TG 37f% 1 ¥4k 7 FH |

v) @US - & & Wiide g¥d [aEUT wan SNetEd HeEr witafuss el d d
e Uk ol a1 &A1 2
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1) IIC (JUICS Lo peapess ==
Each part has to be attempted. _ .
il In Part-A Design and Technical Drawing has 20 multiple f:hou
questions cach. You have to attempt only one either Design ¢
Technical Drawing which has to be marked on OMR Answer Shee!

iv] After giving answers on OMR Answer Sheet, do not cut it and d
not use craser, whitener etc.

v) In Part-B, attempt only one
painting or Design or Technical Drawing.

vi) In Part-C questions of Memory Drawing are given.

question either Natural Landscap

|ue - F

- Part - A
a9 ) 3@ @ve # ‘aeied’ I Fe’ & TH & S (2
' mmﬁ,ﬁqﬁ@w@ﬂwoa@wmam

B .

i) ST ERT eTeRE v ‘Tt F g o 9 A
ﬁgarnaTgrggagaﬁq.ahﬂynnﬁn'gﬁwrﬁﬁﬁtn:3ﬁ#ﬁraﬁw

(nstructions : i) In this part there are twenty (20) multiple choice questions

of ‘Design’ or Technical Drawing’ of which you have tc
answer 20 multiple choice questions of any one.

i) You have to give your answers on OMR Answer Shee
either from ‘Design’ or from ‘Technical Drawing’ as chosen

by you.
( AT )
. ( Design )

A e s e % AR faeq €1 F ¥ W W gh o we e A A
AoTHoHA o I T W JHfehel L : 20 x 1 =20
There are four alternatives of each question. Choose the correct answers
and mark on your OMR Answer Sheet in the same order : 20 x 1 =20
1. Ty o fhae TT gk € 2

(A) 4 (B) 5 (C) 7 (D) 6
1. How many colours are there in a rainbow ?
A 4 (B) (©) 7 (D) 6

03000/43
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Fer 47 A3 W HH-91 9™ Sl § 7

(A) 3UE (B) WA (C) ™ (D) 38 & FIE &I
Which effect does blue colour produce on eyes ?

(A) Cold (B) General (C) Hot (D) None of these
frm o @ w9 wfies (e 2

(A) ' (B) @t (C) T (D) st
Which of the following is primary colour ?

(A) Green (B) Red (C) Orange (D) Violet

ferg R ! A @ @il T YEr e S g 2

(A) TS (B) @@ (C) 2 &t (D) 2 TH
Which number of pencil draws dark line ?

(A) HB (B) H (C) 2B (D) 2H
ATA-Aterr 7 e 4 SR-a T sAar € 2

(a) (B) T (C) (D) &

Which colour will be produced by mixing red and blue colours ?
(A) Orange (B) Violet (C) Brown (D) Green

ATETTE Ho I8 o fead TTEd € 2

- (A) 8 (B) 9 (C) 7 (D) 5

How many colours are there in Ostwald colour chart ?
(A) 8 (B) 9 (C) 7 (D) 5

FHTR YT fed e § 2 |
(A) ) et YErd amew ¥ 7 el (B) 2 deft Yard smaw # fre g

() @-ret @ (D) et @

What are parallel lines ? '

(A) Two straight lines do not intersect each other

(B) Two straight lines intersect each other

(C) Zig-zag line

(D) Straight line

Fod T 9 A § @ S8 2

(A) 6o (B) 1o (C) 4 Ho (D) 2 o
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10.

10.

11.

11.

12.

12.

13.

13.

14.

4

Whic.h No. of brush
(A) No.6 (B) No. 1

e 21 g T 1 1 A E
() @ A T (B) e q e

binations

Which of the two colour com

(A) Redand Yellow (B)
(C) Red and Blue (D)
Yo frd e € 2

(A) d forgatt & g @ g
() R fagal & dw A g

What is a line ?

(A) Distance between three dots

(C) Distance between four dots
T T AT 8 ?

is most fine in the foll

owing ?

(C) e e ten (D) et 0 T

produce green colour ?

Yellow and Blue
Blue and Violet

(B) ﬁﬁﬁaﬁ%a‘lﬂaﬁgﬁ
(D) o @ g 7@

(B) Distance between two dots
(D) None of these

et T e
A qr S

Red and Yellow
Orange and Violet

. de

FH | B Tl

Oil colour
None of these

(A) I U1 THS (B)
(C) & e (D)
Which one is the neutral colour ?
(A) White and Black (B)
(C) Green and Blue {D)
FelT 57T 1 WETEAT W HIA-T1 7 AT A E ?
(A) ST (B)
(C) YA (D)
" Which colour is applied without brush ?
(A) Watercolour (B)
(C) Pastel colour (D)

fper & & Ge SIS HIRT 59 AT Y )

(A) 670 (B) 1o (C) 2o (D) 4 o
Which No, of brush is the most thick one ?

(A) No.6 (B) No. 1 (C) No. 2 (D) No. 4
AR & TG st 1 37 o &

(A) S (B) dem () At (D) -



14.

15.

16.

16.

17.

17.

18.

18.

19.

19.

20.

20.
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5

In the time of sunrise the colour of horizon looks like
(A} Violet (B) Yellow (C) Orange (D) Red
S| STER AEET ¥ iy 30w T € 2
(A) @ B) Frg (C) I (D) T
Which shape is not fit for design work ?
(A) Square (B) Triangle (C) Circle (D) Angle
P e DT RA® ?
(A) FEHE (B) & (C) e (D) €
Which of the following is known as warm colour ?
(A) Sky blue (B) Red (C) Blue (D) Paddy green
Frt § @ Fpg TER F Afe § dieh T et gt ¢ 2
(A) Ta (B) T () 2 (D) 2
The light line can be drawn by which kind of pencil ?
(A) HB (B) H (C) 2H (D) 2B
et {1 fepem &1 € 2
(A) 6 (B) 3 (C) 2 (D) 8
How many secondary colours are there ?
(A) 6 (B) 3 (€) 2 (D) 8
o7 e ot O T EE-EIR 2
(A) TR (B) MR FER  (C) TRHA F (D) Ia For
In colour medium which colour is most transparent one ?
(A) Watercolour (B) Poster colour
(C) Pastel colour (D) Oil colour
sFTer 17 7 fAO T R E 2
() & (B) TG (C) we (D) e
The opposite colour of black colour is
(A) Green (B) White (C) Red (D) Blue

FHgar / OR
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There are four alternatives of €
and mark on your OMR Answer Sheet in the same O

1.

03000/43

gaF dglasedid ﬁW%WW%l?ﬁ
o THoHRo IR TAH W fafeTd & ;

6

( wfafus® & )

( Technical Drawing ) \ ‘ .
3w I g e wé wE H A

20 x 1 =20

ach question. Choose the correct answers
rder : 20 x 1 =20

11 T e 0T B €
(A) 180° (B) 90° (C) 45° (D) 60°
What is the measure of each angle of a square ?
(A) 180° (B) 90° (C) 45° (D) 60°
U 1 % AN HION HI AT Bl @
(A) 180° (B) 360° (C) 270° (D) 320°
What is the sum of all the internal angles of a square ?
(A) 180° (B) 360° (C) 270° (D) 320°
U Tt # fopdnt adidieX 81d § 2
(A) 100 cm (B) 200 cm (C) 500 cm (D) 250 cm
How many centimetres are there in a metre ?
(A) 100 cm (B) 200 cm (C) 500 cm (D) 250 cm
T H HER HTTEAT 8 2
® A ® O © O (D)
Which is the figure of a circle ? :
(A) A : B) O ©) O (D) 0
Qg B &1 TS B0 g @
A) 60° o
(E l‘h (B]- % (©) 45° (D) 90°
ac af:.gle of an equilatera] triangle is

(A) 60 (B) 30° o

] (C] 45 {D 9 avs)
frrdd s wet s e ) ) 90
o) 22e7 (B) 180° (©) 1607
Which angle represents st (D) 360°
(A) 225° raight angle in the folloyw:;

~ (B) 180 : owing 7



~

10.

10.

11.
11.

12,

12.
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g # | S-G9 I WE BT E

(A)  40° Tur 30° (B) 60° ¥l 55°

(C)  30° a1 60° (D)  20° 441 60°

Which pair of angles in the following are complementary angles ?
(A) 40° and 30° (B) 60°and 55°

(C) 30° and 60° (D) 20° and 60°

fg & -1 3THR YR ¢ 2 |

@ O ®J = ©Q () O
Which shape of the following is pentagon ?

) O B) [ 7 © O o)

3 fargait =1 frem ol fraet Y et < Wt € 2 |
(A) TH B) & (C) & (D) sga It
How many lines can be drawn joining two points ?

(A) One (B) Two (C) Three (D) Many

e dQ afus S s-we ?

" {A)  90° ¥ ¥ WK 180° ¥ &H

(B) 60° ¥ I @fehd 180° | &H
(C) 180° ¥ afush wfeh 360° | Bl
(D) T | FE 7@l

Which angle is called obtuse angle in the following ?
(A)  Angle greater than 90° but less than 180°
(B) Angle greater than 60° but less than 180°

{C) Angle greater than 180° but less than 360°

(D)  None of these
ue Hiet § fora UM Bid € 2

(A) 10 (B) 20 (C) 30 (D) 40
How many decimetres are there in a metre ?

(A) 10 (B) 20 (C) 30 (D) 40
felt Byt & siqepio =1 4t g

(A) HEEHW  (B) FEHROT  (C) A wHH (D) T @

What is the sum of internal angles of a triangle ?
(A} One right angle (B) Two right angles
(C) Three right angles (D) None of these

[ Turn over
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13w e T e AT A € ©) 20 (D) 50
A) 10 (B) 40 . imetre ?
13 {H(])w many centimetres are there 1n & de((:;me (D) 50
@A) 10 (B) 40 (©) 2
L4, U o @ T e FOPTE ]
(a) Tl o SR (B) et e S N & e

(C) STFH-HHA SR
14. The four sides of a square has prop

(A) all sides are equal

(B) all sides are unequal

(C) opposite sides are equal

(D) all sides are in a ratio 1 : 2:3:4

15. et oeg Brge & form s T @ e E 2
(A) et & siaeior sTER &M

(B) B & ol ed aTme &
(C) Bt 1 weiw sfesior 120° & &
(D) Frqet &1 gl afgshivT 110° &1 8l

Which property will not applicable for an equilateral triangle?
(A) All the internal angies of the triangle are equal

(B) All the sides of the triangle are equal

(C) All the external angles are 120° each

(D) All the external angles are 110° each

16, w3 e @ wieh ¢ e W A

erty

15.

. (A) H (B) HB (C) 2H (D) B
16.  Which pencil draw§ general line ?
(A) H (B) HB (C) 2H (D) B
17. THAE BT S e ?
A) A B) I\ (C) 3 (D) O
17.  Which one is equilateral triangle ?
a) A (B) I\ (C) 3
. D) O
18,  TEH TR Ufyer S ) (D)
(A) 2B (B) 6B
18.  Which is the darkest penci] 7 ©) B (D) 4B
(A) 2B (B) 6B ©) B D) 4B

03000/43
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9
19. U MR 1 e feddier g € 2
(A) 100 (B) 200 (C) 50 (D) 150
19. How many millimetres will there be in a decimetre ?
(A) 100 (B) 200 (C) 50 (D) 150
20. U Feiter  fren Sl #A € 2
(A) 5000 (B) 10000 (C) 15000 (D) 2000
20. How many decimetre will be in a kilometre ?
(A) 5000 (B) 10000 (C) 15000 (D) 2000
g - 9q B
" Part-B
T G ¥ ‘Weiaw gvd feEor’ mmﬁmmwﬁ&mmﬁ
q FaeT TF HI & o AT ¢ 30

In this part attempt only one qucstmn either ‘Natural
Landscape Painting’ or ‘Design’ or ‘Technical Drawing’. 30

( wrepfern gva fasror )

: ( Natural Landscape Painting )
AT I TF T G BIg §T 22 WA x 18 A & A F WA
ziign| fgg ® Sterdl Foer U T 1 W@ S| e &g EeAd YW 3R
Ted 7 3 TS YW F W w1 feie e v Frefeied @ e

fam :

%) W U T e 10
@) A - 5
M gETa N w T 10
) RN U9 GHR THE | , - 5

Paint a village morning scene .in a rectangle of measurement
22 cm x 18 cm leaving border around it, on your answer sheet provided
to you. Show rising sun, small and tall trees, flying birds in the sky, in
painting. Use Whatman paper for watercolour and Pastel paper for pastel
colour. Following points must be kept in your mmd while painting :

a)  Right ratio and background 10
b) Composition S
c) Application of harmonious colours 10
d) Attraction and general effect. S

AHYdr / OR
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( IJeE )
( Design ) f A e ,
B. zoﬁm%wﬁwfﬁmaﬁnﬁmmwﬁwwﬁﬂmﬁ
ﬁlWWWﬁ,qﬁqﬁmmaﬂuﬁﬁmlmw’Wﬁgl
T 3 67 st @ e B e § e and @ oo
yicie

%) TR B Aot 10
Q) TS W@iEa 5
T W W W 95 e wE 10
) W O e ey | O

B.  Paint a unitary Alpana design in a circle of diameter 20 cm, which

should be proper for Deepawali festival. Design must be based on Indian
flowers, leaves and buds. Tracing is not allowed. Use only three
watercolours in design painting. )
Keep in view the following points while

painting the design :
a) Unitary originality

10
b) Rhythmic lining 5
c) Selection of harmonious colours and application 10
d)  General effect and attraction. 5
JqYaT / OR
( et e )

( Technical Drawing )

C. QAT ¢ ) ﬁﬁ%ﬁﬂﬁfﬂﬁﬁ@ﬁﬁ%ﬁ?%ﬁ?ﬁﬁm

ii) WA® T & 3iE g §

i) TF W B e Y, e
T & | T T e 7 e

- Wm@agmﬁqﬂwwaﬁﬁql@*ﬂmﬁwwéﬂmx
Gerr & S|

@ T s

3x 10 = 30



)

2)

9)

C. Note :

03000/43
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3 U g @ fdes et vy witau faaest Bei sl 3 [t & R ITH
5 & ot g 7 o g

% @ @ W T IR S A o wor e of & = 55 W
Wﬂa=6ﬁﬁaﬁrwwwm°%1mﬂ?ﬁﬁa€aﬁwé€
SR U S I AT Hi |

5 et S[eT Aot WHOZHS T RIS

meﬁaﬁﬁﬁaﬂﬁmﬁﬂﬁ4@ﬁtlﬁaaﬁwﬁlwﬁ
W%(R.F.)mﬁﬁuwmﬁwzﬁaséﬁﬁaﬁ@m

ity |

i) Attempt any three questions among the following five
questions.

ii)  All questions carry equal marks.

iii) In each answer given lines, construction lines and required
lines must be clearly shown. Do not erase the construction

lines.

iv) Use white foolscap paper for rough work and attach it also
with your answer sheet.

3x10=30

Construct a triangle ABC with perimeter 12 cm of which sides
are in the ratioof 3 : 4 : 5.

Draw indirect tangent line on two equal circles of radii 3 cm
each and whose centres are at 7 cm apart.

Construct a parallelogram ABCD whose two adjacent sides AB
and AD are 55 cm and 6 cm respectively and angle between
these two is 60°. Construct a rectangle of equal area of the given
parallelogram.

Construct a hexagon with its side equal to 5 cm.

Construct a simple scale, in which 4 cm represents 1 metre
distance. Find its representative fraction and show 2 metre and
5 decimetre distance on it.

| Turn over
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Qg -1
Part - C
( wyfar o= )
( Memory Drawing ) s 2 x 10 =20
mm%ﬁwmwa%aﬁiﬁwﬁ%ﬁﬁﬁﬂwgl R
F) ﬁﬂ%@ﬂﬁ@ﬁﬁ@ﬁﬂ%~ﬁﬁmﬁﬁﬁ$wﬁ

15 99 ¥ 9 A &)
fert o frfoiiad fagel W am 3
i) sy
ii) AP Sl SFTEIAT | °
a)  ufual wied amH b) el
c) W dy Tl
m)  Freicted § @ e v @ wfe-fam e g it for 15 99 | & T 8
e o frforfaa fosel w e 2
i)y @ ey
ii) 3T Bl FTETT
a) Gl B b) S qun
o) TS W @ e d) o9 o
This question is divided in two sections A, B. Attempt both the sections.
2x10=20

A. Draw a memory drawing of any one of the following with pencil. The
drawing should not be less than 15 ¢m,

Keep in view the following points in the drawing :

i) Beauty of lines 4
ii) Resemblance of the figures 6
a) Mango with leaves b) Banana
c) Brinjal d) Papaya.
B. Draw a memory drawing of any one of the following by pencil. The

drawing should not be less than 15 cm,
Keep in view the following points in the drawing :
i) Beauty of lines

ii) Resemblance of the figures. €
g

a) Open umbrella b) Mug ang
c) A pen kept on a book d)  Table !amc; .bucket
——_—_‘_——-——-—_—-—____________.___:_____:_
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